
https://www.passapply.com/1Z0-050.html
2021 Latest passapply 1Z0-050 PDF and VCE dumps Download

 

 

 

1Z0-050Q&As

Oracle Database New Features for Administrators

Pass Oracle 1Z0-050 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/1Z0-050.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

1Z0-050 Practice Test | 1Z0-050 Study Guide | 1Z0-050 Exam Questions                                1 / 4

https://www.passapply.com/1Z0-050.html
https://www.passapply.com/1Z0-050.html
https://www.passapply.com/1Z0-050.html


https://www.passapply.com/1Z0-050.html
2021 Latest passapply 1Z0-050 PDF and VCE dumps Download

QUESTION 1

Which statements are true regarding system-partitioned tables? (Choose all that apply.) 

A. Only a single partitioning key column can be specified. 

B. All DML statements must use partition-extended syntax. 

C. The same physical attributes must be specified for each partition. 

D. Unique local indexes cannot be created on a system-partitioned table. 

E. Traditional partition pruning and partitionwise joins are not supported on these tables. 

Correct Answer: DE 

 

QUESTION 2

You are managing an Oracle 11 g database with ASM storage, for which the COMPATIBLE initialization parameter is
set to 11.1.0. In the ASM instance, the COMPATIBLE.RDBMS attribute for the disk group is set to 10.2 and the
COMPATIBLE .ASM attribute is set to 11.1. 

Which two statements are true in this scenario for the features enabled for ASM? (Choose two.) 

A. The ASM-preferred mirror read feature is enabled. 

B. The ASM supports variable sizes for extents of 1. 8. and 64 allocation units. 

C. The ASM disk is dropped immediately from a disk group when it becomes unavailable. 

D. The RDBMS always reads the primary copy of a mirrored extent of the ASM disk group. 

Correct Answer: AB 

 

QUESTION 3

What recommendations does the SQL Access Advisor provide for optimizing SQL queries? (Choose all that apply.) 

A. selection of SQL plan baselines 

B. partitioning of tables and indexes 

C. creation of index-organized tables 

D. creation of bitmap, function-based, and B-tree indexes 

E. optimization of materialized views for maximum query usage and fast refresh 

Correct Answer: BDE 
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QUESTION 4

Which are the prerequisites for performing flashback transactions on your database? (Choose all that apply.) 

A. Supplemental log must be enabled. 

B. Supplemental log must be enabled for the primary key 

C. Undo retention guarantee for the database must be configured. 

D. Execute permission on the DBMS_FLASHBACK package must be granted to the user. 

Correct Answer: ABD 

 

QUESTION 5

You are in the process of creating a virtual private catalog in your Oracle Database 11 g database. The PROD1 ,,
PROD and PROD3 Oracle Database 10g databases are registered in the base recovery catalog. The database user
who own 

the base recovery catalog is CATOWNER. CATOWNER executes the following command to grant privileges to a new
user VPC1 using Oracle Database 11 g RMAN executables: 

RMAN> GRANT CATALOG FOR DATABASE prod1, prod2 TO vpc1; 

Then you issue the following commands: 

RMAN> CONNECT CATALOG vpc1/oracle@catdb; 

RMAN> SQL "EXEC catowner.dbms_rcvcat.create_virtual_catalog;" 

What is the outcome of the above commands? 

A. They execute and create a virtual catalog for pre-Oracle 11 g clients. 

B. They produce an error because PROD1 and PROD2 databases belong to the older version. 

C. They produce an error because you need to connect as CATOWNER to execute this packaged procedure. 

D. They produce an error because you need to connect to the target database to execute this packaged procedure. 

Correct Answer: A 
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